Multiply decimals by negative powers of ten

3686.7 x 0.001 =

2376.7 x0.01 =

33372 x0.1 =

5915.3 x0.001 =

4695.7 < 0.01 =

8697.9 x0.01 =

5828.7 x 0.0001 =

6307.8 x 0.1 =

8969.9 x 0.01 =

1002.9 x 0.1 =

Date: Score:

9775.8 x0.001 =

4302.2 x 0.1 =

29439 x0.01 =

4342.5 x 0.1 =

9083.1 x 0.001 =

8972.6 x 0.0001 =

5249.2 x0.01 =

1754.8 x 0.001 =

4010.5 x 0.001 =

5243.5 x0.001 =
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Multiply decimals by negative powers of ten

3686.7 x 0.001 = 3.6867

2376.7 x0.01 = 23.767

3337.2 x0.1 = 333.72

5915.3 x0.001 = 5.9153

4695.7 x 0.01 = 46.957

8697.9 x 0.01 = 86.979

5828.7 x 0.0001 = 0.58287

6307.8 x 0.1 = 630.78

8969.9 x 0.01 = 89.699

1002.9 x 0.1 = 100.29

Date: Score:

9775.8 x0.001 = 9.7758

4302.2 x 0.1 = 430.22

2943.9 x 0.01 = 29.439

4342.5 x 0.1 = 434.25

9083.1 x 0.001 = 9.0831

8972.6 x 0.0001 = 0.89726

5249.2 x0.01 = 52.492

1754.8 x 0.001 = 1.7548

4010.5 x 0.001 = 4.0105

5243.5 x 0.001 = 5.2435
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